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1. Group I of the logically equivalences: Identities related to ‘=’, ‘V’, ‘A’.

Identity laws AT = E Domination laws  pyT=_"T
pVE=_} pAF=_F
Idempotent laws pVp = E Negation laws PV —p = T
pAp=_FP pA—D = _E
Double Negation laws Commutative laws pVq= g: VP
~(m=_{ PAGE ZAD
Associate laws OV Vr= pV (%V V‘) Distributive laws PV (qAT) Evg )/\(EVO
(pAQ) AT = P/\C%/\Y') pA(qQVT) E({M%)M{PAY\)
Absorption laws PV (pAQ)= E De Morgan’s laws ~(PAQ)=Tp VY
pAGPVO=__ P (V) =Tp ATy

2. Prove one of the De Morgan’s laws: *’=(p V q) = (=p) A (—=q)”" by using fruth table.
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3. Show that “:,(BVV_(\—M) =-apA-q”
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4. Using De Morgan’s laws to express the negation of the given proposition:

“‘Miguel has a cellphone, and he has a laptop”’
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5. Group II of the logically equivalences: Identities related to conditional statements.
poq= (‘TPDV% p—q= 7%—; TP
poq= PVEL
~@-0= POy
“(p-og) = PAL
CEINCEIENE N ) P-nA@->n=(PVE) ="
@-q@Vv-r)= P—)L%vr) (p-r)V(g-T1)= @A%)ép
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6. Use the truth table to prove *“‘p = q = (=p) Vq”’ Smii‘g— :)( Cq (Uqliksz\ S
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